

1-1-2021

## Oscillation tests for nonlinear differential equations with nonmonotone delays

NURTEN KILIÇ

Follow this and additional works at: <https://journals.tubitak.gov.tr/math>



Part of the [Mathematics Commons](#)

---

### Recommended Citation

KILIÇ, NURTEN (2021) "Oscillation tests for nonlinear differential equations with nonmonotone delays," *Turkish Journal of Mathematics*: Vol. 45: No. 2, Article 22. <https://doi.org/10.3906/mat-2101-2>  
Available at: <https://journals.tubitak.gov.tr/math/vol45/iss2/22>

This Article is brought to you for free and open access by TÜBİTAK Academic Journals. It has been accepted for inclusion in Turkish Journal of Mathematics by an authorized editor of TÜBİTAK Academic Journals. For more information, please contact [academic.publications@tubitak.gov.tr](mailto:academic.publications@tubitak.gov.tr).

## Oscillation tests for nonlinear differential equations with nonmonotone delays

Nurten KILIÇ\* 

Department of Mathematics, Faculty of Arts and Sciences, Kütahya Dumlupınar University, Kütahya, Turkey

Received: 01.01.2021

Accepted/Published Online: 16.02.2021

Final Version: 26.03.2021

**Abstract:** In this paper, our aim is to investigate a class of first-order nonlinear delay differential equations with several deviating arguments. In addition, we present some sufficient conditions for the oscillatory solutions of these equations. Differing from other studies in the literature, delay terms are not necessarily monotone. Finally, we give examples to demonstrate the results.

**Key words:** Delay equations, nonlinear, nonmonotone arguments, nonoscillatory solution, oscillatory solution

### 1. Introduction

The theory of delay differential equations is a remarkable research area for modern applied mathematics. In recent years, significant concern has been dedicated to the oscillatory and nonoscillatory solutions of these equations. Besides, the question of obtaining new sufficient criteria for the oscillatory behavior of these equations has attracted the attention of many scientists. See, for example [1–26], and the references cited therein. Moreover, oscillations of first-order delay differential equations have numerous applications in the study of oscillation and asymptotic behavior of higher-order differential/dynamic equations. See the studies in [1,2,13,17,23,24] for more detail. The reader is referred to monograph [20] for the general information about oscillation theory.

Consider a class of first-order nonlinear delay differential equations

$$x'(t) + p(t)f(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t))) = 0, \quad t \geq t_0, \quad (1.1)$$

where the functions  $p, \tau_i \in C([t_0, \infty), \mathbb{R}^+)$  and  $\tau_i(t)$  are not necessarily monotone for  $1 \leq i \leq n$  such that

$$\tau_i(t) \leq t \text{ for } t \geq t_0, \quad \lim_{t \rightarrow \infty} \tau_i(t) = \infty, \quad 1 \leq i \leq n \quad (1.2)$$

and  $f(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t)))$  is a continuous function on  $\mathbb{R}^n$  such that

$$xf(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t))) > 0 \text{ for } x \neq 0. \quad (1.3)$$

By a solution of (1.1), we mean continuously differentiable function defined on  $[\tau_i(T_0), \infty)$  for some  $T_0 \geq t_0$  such that (1.1) holds for  $t \geq T_0$ ,  $1 \leq i \leq n$ . A solution of (1.1) is called oscillatory if it has arbitrarily large zeros. Otherwise, it is said to be nonoscillatory.

\*Correspondence: nurten.kilic@dpu.edu.tr

2010 AMS Mathematics Subject Classification: 34C10, 34K06, 34K11.

For  $n = 1$ , (1.1) turns into the equation

$$x'(t) + p(t)f(x(\tau_1(t))) = 0, \quad t \geq t_0. \tag{1.4}$$

When  $f(x) = x$ , we have the linear form of (1.4)

$$x'(t) + p(t)x(\tau_1(t)) = 0, \quad t \geq t_0. \tag{1.5}$$

Establishing sufficient conditions for the oscillation of all solutions of (1.5) has been the subject field of many examinations. See, for example, [3–12,14,15,18–22].

Ladde et al. [22] established the following result.

Suppose that  $p, \tau_1$ , and  $f$  in (1.4) satisfy the following conditions.

- (i)  $\tau_1(t) \leq t$  for  $t \geq t_0$ ,  $\lim_{t \rightarrow \infty} \tau_1(t) = \infty$  and  $\tau_1(t)$  is strictly increasing on  $\mathbb{R}^+$ .
- (ii)  $p(t)$  is locally integrable and  $p(t) \geq 0$ .
- (iii)  $f \in C(\mathbb{R}, \mathbb{R})$ ,  $xf(x) > 0$  for  $x \neq 0$ ,  $f$  is nondecreasing and  $\lim_{x \rightarrow 0} \frac{x}{f(x)} = N_1 < \infty$ .

If

$$\limsup_{t \rightarrow \infty} \int_{\tau_1(t)}^t p(s)ds > N_1$$

or

$$\liminf_{t \rightarrow \infty} \int_{\tau_1(t)}^t p(s)ds > \frac{N_1}{e},$$

then all solutions of (1.4) oscillate.

In 1984, Fukagai and Kusano [19] obtained the following result.

Suppose that (1.2) holds,

$$f \in C(\mathbb{R}, \mathbb{R}), \quad xf(x) > 0 \text{ for } x \neq 0 \tag{1.6}$$

and

$$\limsup_{x \rightarrow 0} \frac{|x|}{|f(x)|} = N_2 < \infty. \tag{1.7}$$

If  $\tau_1(t)$  is nondecreasing and

$$\liminf_{t \rightarrow \infty} \int_{\tau_1(t)}^t p(s)ds > \frac{N_2}{e},$$

then all solutions of (1.4) oscillate.

In 2017 and 2020, Öcalan et al. [25,26] proved the following result.

Assume that (1.2) and (1.6) hold, and  $\limsup_{x \rightarrow 0} \frac{x}{f(x)} = N_3$ . If  $\tau_1(t)$  is not necessarily monotone and

$$\limsup_{t \rightarrow \infty} \int_{h(t)}^t p(s)ds > N_3, \quad 0 < N_3 < \infty$$

or

$$\liminf_{t \rightarrow \infty} \int_{\tau_1(t)}^t p(s) ds > \frac{N_3}{e}, \quad 0 \leq N_3 < \infty,$$

where  $h(t) := \sup_{s \leq t} \{\tau_1(s)\}$ ,  $t \geq 0$ , then all solutions of (1.4) oscillate.

Now, consider again (1.1). The following theorem was given by Fukagai and Kusano in 1984 [19].

**Theorem 1.1** *Suppose that (1.2) and (1.3) hold,  $\tau_i(t)$  are nondecreasing for  $1 \leq i \leq n$  and*

$$N_4 = \limsup_{x \rightarrow 0} \frac{|x(\tau_1(t))|^{\alpha_1} |x(\tau_2(t))|^{\alpha_2} \cdots |x(\tau_n(t))|^{\alpha_n}}{|f(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t)))|} < \infty, \tag{1.8}$$

where  $\alpha_i$  are nonnegative constants with  $\sum_{i=1}^n \alpha_i = 1$ . If there is a continuous nondecreasing function  $\tau^*(t)$  such that  $\tau_i(t) \leq \tau^*(t) \leq t$  for  $1 \leq i \leq n$ ,  $t \geq a$  and

$$\liminf_{t \rightarrow \infty} \int_{\tau^*(t)}^t p(s) ds > \frac{N_4}{e},$$

then all solutions of (1.1) oscillate.

Thus, in this paper, our aim is to essentially develop these results under the assumption that  $\tau_i(t)$  are not necessarily monotone arguments for  $1 \leq i \leq n$  and to obtain new criteria for the oscillation of (1.1).

## 2. Main results

In this section, we present some new sufficient conditions for the oscillation of all solutions of (1.1), under the assumption that delay arguments  $\tau_i(t)$  are not necessarily monotone for  $1 \leq i \leq n$ . Set

$$h_i(t) := \sup_{s \leq t} \{\tau_i(s)\} \text{ and } h(t) = \max_{1 \leq i \leq n} \{h_i(t)\}, \quad t \geq 0 \tag{2.1}$$

and

$$\limsup_{x \rightarrow 0} \frac{x(\tau(t))}{f(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t)))} = N, \quad \tau(t) = \max_{1 \leq i \leq n} \{\tau_i(t)\}. \tag{2.2}$$

Clearly,  $h_i(t)$  are nondecreasing and  $\tau_i(t) \leq \tau(t) \leq h_i(t) \leq h(t)$  for all  $1 \leq i \leq n$ ,  $t \geq 0$ .

The following result was given in [18].

**Lemma 2.1** *Assume that (2.1) holds and*

$$\liminf_{t \rightarrow \infty} \int_{\tau(t)}^t p(s) ds = L.$$

Then, we have

$$\liminf_{t \rightarrow \infty} \int_{\tau(t)}^t p(s) ds = \liminf_{t \rightarrow \infty} \int_{h(t)}^t p(s) ds = L, \tag{2.3}$$

where  $\tau(t) = \max_{1 \leq i \leq n} \{\tau_i(t)\}$ .

**Lemma 2.2** Assume that  $x(t)$  is an eventually positive solution of (1.1). If

$$\limsup_{t \rightarrow \infty} \int_{h(t)}^t p(s) ds > 0, \tag{2.4}$$

where  $h(t)$  is defined by (2.1), then  $\lim_{t \rightarrow \infty} x(t) = 0$ .

Moreover, assume that  $x(t)$  is an eventually negative solution of (1.1). If (2.4) holds, then  $\lim_{t \rightarrow \infty} x(t) = 0$ .

**Proof** Assume that (2.4) holds. Let  $x(t)$  be an eventually positive solution of (1.1). Then, there exists a  $t_1 > t_0$  such that  $x(t), x(\tau(t)), x(h(t)) > 0$  for all  $t \geq t_1$ . Thus, from (1.1), we get

$$x'(t) = -p(t)f(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t))) \leq 0$$

for all  $t \geq t_1$ , which means that  $x(t)$  is nonincreasing and has a limit  $l > 0$  or  $l = 0$ . Now, we claim that  $\lim_{t \rightarrow \infty} x(t) = 0$ . Otherwise,  $\lim_{t \rightarrow \infty} x(t) = l > 0$ . Then, integrating (1.1) from  $h(t)$  to  $t$ , we have

$$x(t) - x(h(t)) + \int_{h(t)}^t p(s)f(x(\tau_1(s)), x(\tau_2(s)), \dots, x(\tau_n(s))) ds = 0. \tag{2.5}$$

Moreover, since  $f$  is continuous, then it has a limit, so there exists a  $t_2$  such that  $f(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t))) \geq d > 0$  for  $t \geq t_2$ . By using this and (2.5), we have the inequality

$$x(t) - x(h(t)) + d \int_{h(t)}^t p(s) ds \leq 0. \tag{2.6}$$

Then, (2.4) implies that there exists at least one sequence  $\{t_n\}$  such that  $t_n \rightarrow \infty$  as  $n \rightarrow \infty$  and

$$\lim_{n \rightarrow \infty} \int_{h(t_n)}^{t_n} p(s) ds > 0. \tag{2.7}$$

By writing  $t \rightarrow t_n$  and taking limit as  $n \rightarrow \infty$  in (2.6), we have

$$\lim_{n \rightarrow \infty} (x(t_n) - x(h(t_n))) + d \lim_{n \rightarrow \infty} \int_{h(t_n)}^{t_n} p(s) ds \leq 0$$

or

$$d \lim_{n \rightarrow \infty} \int_{h(t_n)}^{t_n} p(s) ds \leq 0$$

but this contradicts with (2.7). Thus, the proof of the lemma is completed.

By using same process, it is easy to see that when  $x(t)$  is an eventually negative solution of (1.1) under the assumption that (2.4) holds,  $\lim_{t \rightarrow \infty} x(t) = 0$ . □

**Theorem 2.3** Assume that (1.2), (1.3), (2.1), and (2.2) hold. If

$$\liminf_{t \rightarrow \infty} \int_{\tau(t)}^t p(s) ds > \frac{N}{e}, \quad 0 \leq N < \infty, \tag{2.8}$$

where  $\tau(t) = \max_{1 \leq i \leq n} \{\tau_i(t)\}$ , then all solutions of (1.1) oscillate.

**Proof** Assume, for the sake of contradiction, that there exists an eventually positive solution  $x(t)$  of (1.1). If there exists an eventually negative solution  $x(t)$  of (1.1), then the proof can be done similarly as below. Then, there exists a  $t_1 > t_0$  such that  $x(t), x(\tau_i(t)), x(h_i(t)) > 0$  for all  $1 \leq i \leq n, t \geq t_1$ . Thus, from (1.1), we have

$$x'(t) = -p(t)f(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t))) \leq 0$$

for all  $t \geq t_1$ , which means that  $x(t)$  is an eventually nonincreasing function. Condition (2.8) and Lemma 2.2 imply that  $\lim_{t \rightarrow \infty} x(t) = 0$ .

**Case I:** Let  $N > 0$ . Then, by (2.2), we can choose  $t_2 \geq t_1$  so large that

$$f(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t))) \geq \frac{1}{2N}x(\tau(t)) \tag{2.9}$$

for  $t \geq t_2$ . Since  $\tau(t) \leq h(t)$ ,  $x(t)$  is nonincreasing and using (2.9), we have from (1.1)

$$x'(t) + \frac{1}{2N}p(t)x(\tau(t)) \leq 0$$

or

$$x'(t) + \frac{1}{2N}p(t)x(h(t)) \leq 0. \tag{2.10}$$

Moreover, from (2.8) and Lemma 2.1, there exists a constant  $c > 0$  such that

$$\int_{h(t)}^t p(s) ds \geq c > \frac{N}{e}, \quad t \geq t_3 \geq t_2. \tag{2.11}$$

Furthermore, from (2.8) there exists a real number  $t^* \in (h(t), t)$  for all  $t \geq t_3$  such that

$$\int_{h(t)}^{t^*} p(s) ds > \frac{N}{2e} \quad \text{and} \quad \int_{t^*}^t p(s) ds > \frac{N}{2e}. \tag{2.12}$$

Integrating (2.10) from  $h(t)$  to  $t^*$ , by taking into account that  $x(t)$  is nonincreasing,  $h(t)$  is nondecreasing, and (2.12), we have

$$x(t^*) - x(h(t)) + \frac{1}{2N} \int_{h(t)}^{t^*} p(s)x(h(s))ds \leq 0$$

and

$$x(t^*) - x(h(t)) + \frac{1}{2N}x(h(t^*))\frac{N}{2e} < 0$$

or

$$x(h(t)) > \frac{1}{4e}x(h(t^*)). \tag{2.13}$$

Integrating (2.10) from  $t^*$  to  $t$ , by using the same facts, we obtain

$$x(t) - x(t^*) + \frac{1}{2N} \int_{t^*}^t p(s)x(h(s))ds \leq 0$$

and

$$x(t) - x(t^*) + \frac{1}{2N}x(h(t))\frac{N}{2e} < 0$$

or

$$x(t^*) > \frac{1}{4e}x(h(t)). \tag{2.14}$$

Combining (2.13) and (2.14), we have

$$x(t^*) > \frac{1}{4e}x(h(t)) > \frac{1}{(4e)^2}x(h(t^*)),$$

$$\frac{x(h(t^*))}{x(t^*)} < (4e)^2, \quad t \geq t_4. \tag{2.15}$$

Let

$$u = \liminf_{t \rightarrow \infty} \frac{x(h(t))}{x(t)} \geq 1 \tag{2.16}$$

and because of  $1 \leq u \leq (4e)^2$ ,  $u$  is finite.

Now, dividing (1.1) with  $x(t)$  and integrating from  $h(t)$  to  $t$ , we have

$$\int_{h(t)}^t \frac{x'(s)}{x(s)} ds + \int_{h(t)}^t p(s) \frac{f(x(\tau_1(s)), x(\tau_2(s)), \dots, x(\tau_n(s)))}{x(s)} ds = 0$$

or

$$\ln \frac{x(t)}{x(h(t))} + \int_{h(t)}^t p(s) \frac{f(x(\tau_1(s)), x(\tau_2(s)), \dots, x(\tau_n(s)))}{x(\tau(s))} \frac{x(\tau(s))}{x(s)} ds = 0.$$

By using the facts that  $x(t)$  is nonincreasing and  $\tau(t) \leq h(t)$ , we get

$$\ln \frac{x(t)}{x(h(t))} + \int_{h(t)}^t p(s) \frac{f(x(\tau_1(s)), x(\tau_2(s)), \dots, x(\tau_n(s))) x(h(s))}{x(\tau(s)) x(s)} ds \leq 0.$$

Moreover, there exists a  $\zeta$  such that  $h(t) \leq \zeta \leq t$ . Then, we have

$$\ln \frac{x(h(t))}{x(t)} \geq \frac{f(x(\tau_1(\zeta)), x(\tau_2(\zeta)), \dots, x(\tau_n(\zeta))) x(h(\zeta))}{x(\tau(\zeta)) x(\zeta)} \int_{h(t)}^t p(s) ds. \tag{2.17}$$

Then, taking lower limit on both side of (2.17), we obtain  $\ln u > \frac{u}{e}$ . Since  $\ln x \leq \frac{x}{e}$  for all  $x > 0$ , it is impossible.

**Case II:** Let  $N = 0$ . It is obvious that  $\frac{x(\tau(t))}{f(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t)))} > 0$  and

$$\lim_{x \rightarrow 0} \frac{x(\tau(t))}{f(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t)))} = 0. \tag{2.18}$$

By (2.18), we have

$$\frac{x(\tau(t))}{f(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t)))} < \varepsilon \tag{2.19}$$

or

$$\frac{f(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t)))}{x(\tau(t))} > \frac{1}{\varepsilon} \tag{2.20}$$

where  $\varepsilon$  is an arbitrary real number. Because of this,  $\tau(t) \leq h(t)$  and  $x(t)$  is nonincreasing and using (2.20), we have from (1.1)

$$x'(t) + \frac{1}{\varepsilon} p(t)x(\tau(t)) < 0$$

or

$$x'(t) + \frac{1}{\varepsilon} p(t)x(h(t)) < 0. \tag{2.21}$$

Integrating the last inequality from  $h(t)$  to  $t$ , we get

$$x(t) - x(h(t)) + \frac{1}{\varepsilon} \int_{h(t)}^t p(s)x(h(s)) ds < 0,$$

$$x(h(t)) \left[ \frac{1}{\varepsilon} \int_{h(t)}^t p(s) ds - 1 \right] < 0.$$

Then, using (2.11), we obtain

$$1 > \frac{c}{\varepsilon}$$

or

$$\varepsilon > c \tag{2.22}$$

but this contradicts with (2.18); hence, the proof of the theorem is completed.  $\square$



**Theorem 2.4** Assume that (1.2), (1.3), (2.1), and (2.2) hold. If

$$\limsup_{t \rightarrow \infty} \int_{h(t)}^t p(s) ds > N, \quad 0 < N < \infty, \tag{2.23}$$

then all solutions of (1.1) oscillate.

**Proof** Assume, for the sake of contradiction, that there exists an eventually positive solution  $x(t)$  of (1.1). If there exists an eventually negative solution  $x(t)$  of (1.1), then the proof can be done similarly as below. Then, there exists a  $t_1 \geq t_0$  such that  $x(t), x(\tau_i(t)), x(h_i(t)) > 0$  for all  $1 \leq i \leq n, t \geq t_1$ . From Theorem 2.3,  $x(t)$  is an eventually nonincreasing, also from (2.23) and Lemma 2.2,  $\lim_{t \rightarrow \infty} x(t) = 0$ . By taking into account of (2.2) for  $\theta > 1$ , we get the inequality

$$f(x(\tau_1(t)), x(\tau_2(t)), \dots, x(\tau_n(t))) \geq \frac{1}{\theta N} x(\tau(t)). \tag{2.24}$$

From, (2.23), there exists a constant  $K > 0$  such that

$$\limsup_{t \rightarrow \infty} \int_{h(t)}^t p(s) ds = K > N. \tag{2.25}$$

Since  $K > N$ , we have  $N < \frac{K+N}{2} < K$ . Moreover, by (2.24) and using  $\tau(t) \leq h(t)$  and  $x(t)$  is nonincreasing from (1.1), we have

$$x'(t) + \frac{1}{\theta N} p(t)x(\tau(t)) \leq 0$$

or

$$x'(t) + \frac{1}{\theta N} p(t)x(h(t)) \leq 0. \tag{2.26}$$

Integrating (2.26) from  $h(t)$  to  $t$ , we have

$$x(t) - x(h(t)) + \frac{1}{\theta N} \int_{h(t)}^t p(s)x(h(s)) ds \leq 0$$

or

$$x(h(t)) \left[ \frac{1}{\theta N} \int_{h(t)}^t p(s) ds - 1 \right] \leq 0;$$

hence,

$$\int_{h(t)}^t p(s) ds < \theta N$$

for sufficiently large  $t$ . Therefore,

$$\limsup_{t \rightarrow \infty} \int_{h(t)}^t p(s) ds \leq \theta N.$$

Since  $\theta > 1$  and  $\frac{K+N}{2N} > 1$ , we can choose this term instead of  $\theta$ . If the term  $\theta = \frac{K+N}{2N} > 1$  is replaced in the last inequality, then we obtain

$$\limsup_{t \rightarrow \infty} \int_{h(t)}^t p(s) ds = K \leq \frac{K+N}{2},$$

which contradicts with  $K > \frac{K+N}{2}$ , so the proof is completed. □

**Example 2.5** Consider the first-order nonlinear delay differential equation

$$x'(t) + \frac{2}{e} x(\tau_1(t)) \ln(|x(\tau_1(t)) x(\tau_2(t))| + 3) = 0, \quad t \geq 0, \tag{2.27}$$

where

$$\tau_1(t) = \begin{cases} t - 1, & t \in [3k, 3k + 1] \\ -3t + 12k + 3, & t \in [3k + 1, 3k + 2] \\ 5t - 12k - 13, & t \in [3k + 2, 3k + 3] \end{cases}, \quad k \in \mathbb{N}_0$$

$$\tau_2(t) = \tau_1(t) - 2$$

and with the help of (2.1)

$$h_1(t) := \sup_{s \leq t} \{\tau_1(s)\} = \begin{cases} t - 1, & t \in [3k, 3k + 1] \\ 3k, & t \in [3k + 1, 3k + 2.6] \\ 5t - 12k - 13, & t \in [3k + 2.6, 3k + 3] \end{cases}, \quad k \in \mathbb{N}_0,$$

$$h_2(t) = h_1(t) - 2,$$

then, we have

$$\tau(t) = \max_{1 \leq i \leq 2} \{\tau_i(t)\} = \tau_1(t).$$

Moreover, we find

$$N = \limsup_{x \rightarrow 0} \frac{x(\tau_1(t))}{x(\tau_1(t)) \ln(|x(\tau_1(t)) x(\tau_2(t))| + 3)} = \frac{1}{\ln 3} \cong 0.91023.$$

Since

$$\liminf_{t \rightarrow \infty} \int_{\tau(t)}^t p(s) ds = \liminf_{t \rightarrow \infty} \int_{t-1}^t p(s) ds = \frac{2}{e} \cong 0.73575 > \frac{N}{e} = \frac{1}{e \ln 3} \cong 0.33485,$$

all solutions of (2.27) are oscillatory.

**Example 2.6** Consider the first-order nonlinear delay differential equation

$$x'(t) + \frac{1}{e} x(\tau_1(t)) \ln(e^{x(\tau_2(t))} + 1.1) = 0, \quad t \geq 0, \quad (2.28)$$

where

$$\tau_1(t) = \begin{cases} -t + 12k - 2, & t \in [6k, 6k + 1] \\ 4t - 18k - 7, & t \in [6k + 1, 6k + 2] \\ -t + 12k + 3, & t \in [6k + 2, 6k + 3] \\ t - 3, & t \in [6k + 3, 6k + 4] \\ -2t + 18k + 9, & t \in [6k + 4, 6k + 5] \\ 5t - 24k - 26, & t \in [6k + 5, 6k + 6] \end{cases}, \quad k \in \mathbb{N}_0,$$

$$\tau_2(t) = \tau_1(t) - 1$$

and with the help of (2.1)

$$h_1(t) := \sup_{s \leq t} \{\tau_1(s)\} = \begin{cases} 6k - 2, & t \in [6k, 6k + 1.25] \\ 4t - 18k - 7, & t \in [6k + 1.25, 6k + 2] \\ 6k + 1, & t \in [6k + 2, 6k + 5.4] \\ 5t - 24k - 26, & t \in [6k + 5.4, 6k + 6] \end{cases}, \quad k \in \mathbb{N}_0,$$

$$h_2(t) := \sup_{s \leq t} \{\tau_2(s)\} = h_1(t) - 1,$$

$\mathbb{N}_0$  is the set of nonnegative integers, then we have

$$h(t) = \max_{1 \leq i \leq 2} \{h_i(t)\} = h_1(t).$$

Moreover, we find

$$N = \limsup_{x \rightarrow 0} \frac{x(\tau_1(t))}{x(\tau_1(t)) \ln(e^{x(\tau_2(t))} + 1.1)} = \frac{1}{\ln(2.1)} \cong 1.34782.$$

Finally, for  $t=6k+5.4$ , we observe that

$$\limsup_{t \rightarrow \infty} \int_{h(t)}^t p(s) ds = \limsup_{t \rightarrow \infty} \int_{6k+1}^{6k+5.4} \frac{1}{e} ds \cong 1.61866 > N \cong 1.34782.$$

Thus, all solutions of (2.28) are oscillatory.

## References

- [1] Agarwal RP, Bohner M, Li T, Zhang C. A new approach in the study of oscillatory behavior of even-order neutral delay differential equations. Applied Mathematics and Computation 2013; 225: 787-794. doi: 10.1016/j.amc.2013.09.037
- [2] Bohner M, Li T. Oscillation of second-order  $p$ -Laplace dynamic equations with a nonpositive neutral coefficient. Applied Mathematics Letters 2014; 37: 72-76. doi: 10.1016/j.aml.2014.05.012
- [3] Braverman E, Karpuz B. On oscillation of differential and difference equations with nonmonotone delays. Applied Mathematics and Computation 2011; 218 (7): 3880-3887. doi: 10.1016/j.amc.2011.09.035

- [4] Braverman E, Chatzarakis GE, Stavroulakis IP. Iterative oscillation tests for differential equations with several non-monotone arguments. *Advances in Difference Equations* 2016; 2016 (1): 1-18. doi: 10.1186/s13662-016-0817-3
- [5] Chatzarakis GE, Li T. Oscillations of differential equations generated by several deviating arguments. *Advances in Difference Equations* 2017; 2017 (1): 1-24. doi: 10.1186/s13662-017-1353-5
- [6] Chatzarakis GE, Jadlovská I. Improved iterative oscillation tests for first-order deviating differential equations. *Opuscula Mathematica* 2018; 38 (3): 327-356. doi: 10.7494/OpMath.2018.38.3.327
- [7] Chatzarakis GE, Li T. Oscillation criteria for delay and advanced differential equations with nonmonotone arguments. *Complexity* 2018; 2018. doi: 10.1155/2018/8237634
- [8] Chatzarakis GE. Oscillations of equations caused by several deviating arguments. *Opuscula Mathematica* 2019; 39 (3): 321-353. doi: 10.7494/OpMath.2019.39.3.321
- [9] Chatzarakis GE, Jadlovská I. Oscillations in deviating differential equations using an iterative method. *Communications in Mathematics* 2019; 27 (2): 143-169. doi: 10.2478/cm-2019-0012
- [10] Chatzarakis GE, Jadlovská I. Explicit criteria for the oscillation of differential equations with several arguments. *Dynamic Systems and Applications* 2019; 28 (2): 217-242. doi: 10.12732/dsa.v28i2.1
- [11] Chatzarakis GE, Jadlovská I, Li T. Oscillations of differential equations with nonmonotone deviating arguments. *Advances in Difference Equations* 2019; 2019 (1): 1-20. doi: 10.1186/s13662-019-2162-9
- [12] Chatzarakis GE. Oscillation test for linear deviating differential equations. *Applied Mathematics Letters* 2019; 98: 352-358. doi: 10.1016/j.aml.2019.06.022
- [13] Chatzarakis GE, Grace SR, Jadlovská I, Li T, Tunç E. Oscillation criteria for third-order Emden-Fowler differential equations with unbounded neutral coefficients. *Complexity* 2019; 2019: 1-7, Article ID 5691758. doi: 10.1155/2019/5691758
- [14] Chatzarakis GE, Jadlovská I. Oscillations in differential equations caused by non-monotone arguments. *Nonlinear Studies* 2020; 27 (3): 589-607.
- [15] Chatzarakis GE. Oscillation of deviating differential equations. *Mathematica Bohemica* 2020; 145 (4): 435-448. doi: 10.21136/MB.2020.0002-19
- [16] Dix JP, Dix JG. Oscillation of solutions to nonlinear first-order delay differential equations. *Involve* 2016; 9 (3): 465-482. doi: 10.2140/involve.2016.9.465
- [17] Džurina J, Grace SR, Jadlovská I, Li T. Oscillation criteria for second-order Emden-Fowler delay differential equations with a sublinear neutral term. *Mathematische Nachrichten* 2020; 293 (5): 910-922. doi: 10.1002/mana.201800196
- [18] Erbe LH, Kong Q, Zhang BG. *Oscillation Theory for Functional Differential Equations*. New York, NY, USA: Marcel Dekker, 1995.
- [19] Fukagai N, Kusano T. Oscillation theory of first order functional differential equations with deviating arguments. *Annali di Matematica Pura ed Applicata* 1984; 136 (1): 95-117. doi: 10.1007/BF01773379
- [20] Györi I, Ladas G. *Oscillation Theory of Delay Differential Equations with Applications*. Oxford, UK: Clarendon Press, 1991.
- [21] Koplatadze RG, Chanturija TA. Oscillating and monotone solutions of first-order differential equations with deviating arguments (Russian). *Differentsial'nye Uravneniya* 1982; 18 (8): 1463-1465.
- [22] Ladde GS, Lakshmikantham V, Zhang BG. *Oscillation Theory of Differential Equations with Deviating Arguments*. Monographs and Textbooks in Pure and Applied Mathematics 110. New York, NY, USA: Marcel Dekker, 1987.
- [23] Li T, Rogovchenko YV. Oscillation criteria for even-order neutral differential equations. *Applied Mathematics Letters* 2016; 61: 35-41. doi: 10.1016/j.aml.2016.04.012

- [24] Li T, Rogovchenko YV. On the asymptotic behavior of solutions to a class of third-order nonlinear neutral differential equations. *Applied Mathematics Letters* 2020; 105: 1-7, Article ID 106293. doi: 10.1016/j.aml.2020.106293
- [25] Öcalan Ö, Kılıç N, Şahin S, Özkan UM. Oscillation of nonlinear delay differential equation with nonmonotone arguments. *International Journal of Analysis and Applications* 2017; 14 (2): 147-154.
- [26] Öcalan Ö, Kılıç N, Özkan UM, Öztürk S. Oscillatory behavior for nonlinear delay differential equation with several non-monotone arguments. *Computational Methods for Differential Equations* 2020; 8 (1): 14-27. doi: 10.22034/cmde.2019.9470